RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (FY 2002 Indian Health Service)

RESOLUTION NO. 01-635

1	WHEREAS,	the Tohono O'odham Nation has historically contracted certain functions from the
2		Indian Health Service; and
3	WHEREAS,	the Legislative Council has approved Resolution No. 01-352 granting the Executive
4		authorization to submit the Annual Funding Agreement (AFA) to the Indian Self
5		Determination Act Master contract; and
6	WHEREAS,	the Executive Branch developed approval of the following budgets as attached and
7		$incorporated \ by \ this\ reference, to\ be\ effective\ October\ 1,2001\ through\ September\ 30,$
8		2002 and request authorization to expend the funds:
9		1. Management of Health - \$333,509.63 + Est. IDC \$56,290.68 = \$389,800.31
10		
11		2. Community Health Representative/Community Health Services - \$1,358,997.00 +
12		Est. IDC \$233,507.48 = \$1,592,504.48
13		
14		3. Community Counseling & Relations Services - \$43,601.73 + Est. IDC \$7,586.70 =
15		\$51,188.43
16		
17		4. Tohono O'odham Psychological Services - \$670,497.00 + Est. IDC \$116,666.00 =
18		\$787,163.00
19		
20		5. Division of Alcohol & Substance Abuse - \$723,376.92 + Est. IDC \$98,523.47 =
21		\$821,900.39
22		
23		6. Rehabilitation Aftercare Program - \$477,459.65 + Est. IDC \$65,315.88 =
24		\$542,775.53
25		
26		7. Community Based Prevention Training - \$19,261.00 + Est. IDC \$3,351.41 =
27		\$22,612.41
28		
29		8. Health Needs Assessment - \$10,000.00 + Est. IDC \$1,740.00 = \$11,740.00
30		
31		9. Total amount of budgets - \$4,219,684.65.
32	NOW, THE	REFORE, BE IT RESOLVED that the Executive Branch is hereby authorized to expend
33		funds for the programs listed herein above and as attached in the amounts indicated,
34		effective October 1, 2001 through September 30, 2002.

	RESOLUTION NO. <u>01-635</u> (FY 2002 Indian Health Service)	
	Page 2 of 3	
1		he Tohono O'odham Legislative Council on the <u>20th.</u> Day
2		th a quorum was present with a vote of 2,417.5 FOR; -0-
3 4		r, pursuant to the powers vested in the Council by Section the Tohono O'Odham Nation, adopted by the Tohono
5		ed approved by the Acting Deputy Assistant Secretary -
6		986, pursuant to Section 16 of the Act of June 18, 1934 (48
7	Stat. 984).	•
8		
9 10		OHONO O'ODHAM LEGISLATIVE COUNCIL
11		1-1
12		soulles from file
13	i	Rita A. Martinez, Legislative Chairwoman
14		- th
15		28 day of December, 20 Q(
16		
17	ATTEST:	
18		
19	1 4 4, 1	
20	Julianna Saraficio, Acting Legislative Sec	_
21	Julianna Saraficio, Acting Legislative Sec	retary
22		
23	20th day of Dumber, 20_0	<u>7/ </u>
24		
25	Said Resolution was submitted for appro	val to the office of the Chairman of the Tohono O'Odham
26		be, 20 01 at 2:22 o'clock, A .M.,
27	11	Article VII of the Constitution and will become effective
28	11	to either approve or disapprove it within 48 hours of
29	submittal.	
30	1	
31	TO	HONO O'ODHAM LEGISLATIVE COUNCIL
32	\land) aa
33		aulle from fire
34 35	Die	a A. Martinez, Legislative Chairwoman
36	, Mi	a A. Martinez, Legislative Charlwoman
37		
38		
39	M APPROVED on	the 31 day of <i>Deember</i> , 2001
40		<u></u>
41	[] DISAPPROVED at	9 <u>'.58</u> o'clock, <u>4</u> .M.
42	ll .	
43	_<	Henry a. Ramore WARD D. MANUEL, Chairman
44	ED	WARD D. MANUEL, Chairman
45	SS	HONO O'ODHAM NATION
46		

tı	arned to the	: Legislativ	e Secretary	on the _	<i>3</i> /day	of	
,	Dumb	<u>~</u>	<i>01</i> , at	//: 57_ o	o'clock, <u>#</u>	M.	
	. 1						
•	Juni .	Lapa	for		_		
li	<i>Juliu</i> anna Sarafi	cio, Acting	, Legislative	Secretar	y		

ACTION: FY 2002 INDIAN HEALTH SERVICE

MOVED: COUNCILWOMAN FERN SALCIDO

SECOND: COUNCILMAN ALEX RAMON

DATE:

DECEMBER 20, 2001

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 317.7	FRANCES MIGUEL ()	158.85	X			
317.7	2. FRANCES G. ANTONE (Lucilda Norris-Valenzuela)	158.85	X			
CHUKUT KUK 248.1	1. KENNETH WILLIAMS (Juanita Homer) 2. DAVID GARCIA	124.05 124.05	X X			
GU ACHI	(Mary Audrey Juan) 1. CAMILLUS LOPEZ	115.35	X			
230.7	() 2. ALEX J. RAMON (Jerome Joaquin)	115.35	X			
GU VO	1. FERN SALCIDO	94.15	x			
188.3	2. EMILIO LEWIS (Michael Flores)	94.15	X			
HICKIWAN 167.3	1. SHIRLEY MOLINA	83.65	x			
107.3	2. SANDRA ORTEGA ()	83.65	x			
PISINEMO 174.7	1. BARBARA SALVICIO (Alex Antone)	87.35	x			
1/4.7	2. PATRICIA CRUZ (Johnson Jose)	87.35	X			
SAN LUCY 160.7	1. ALBERT MANUEL, JR. (John W. Lawson, Sr.)	80.35	X			X
100.7	2. GLORIA RAMIREZ ()	80.35	X			
SAN XAVIER 184.7	1. TONY BURRELL	92,35	X			Х
104.7	2. DENNIS RAMON ()	92.35	X			
SCHUK TOAK	1. MARY FLORES	72.25	x			
144.5	2. AMBROSE ENCINAS (Frances B. Conde(Francisco))	72.25	х			
SELLS	1. DENNIS E. JOSE	208.05	X			
416.1	2. EVELYN JUAN	208.05	X			
SIF OIDAK	1. ISIDRO LOPEZ	92.35	X			
184.7	2. RITA MARTINEZ (Nicholas Jose)	92.35	X			
T	OTAL	2,417.5	2,417.5	-0-	-0-	[02]